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SECTION - A
Analytical Ability
SN FBYsd
Questions : 75 ' Marks : 75
BHyeo 175 Srdp 075
(i) Data Sufficiency (Marks : 20)

&ggro’ éwggé

Note : In questions numbered 1 to 20, a question is followed by data in the form of two
statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropriate choice from (1) to (4) as per the following guidelines :

(a) Mark choice (1) if the statement 1 alone is sufficient to answer the question.
(b) Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
= question but neither statement alone is sufficient.

wE (d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

Sr3% 1 1508 20 DB ai)d (DS LK)%J;S‘?&J 2.8 (%), o°9 (80 I, IT & Hden Ko
Bok |dHSaren SgroBorr QDT OW. QWY dgrow), &HGIrNoW,
CIARES (BoSTren (DS QI aw‘bboé)éa DorgRen wHeor So
©d dg0owd. & At (308 Erg88)8 rlgren GHGIrNoY
(1) %08 (4) HBE H0 Wond waw JoDE Fohod :

(@) PHS ddrerdo aByods PHENe I (& Horghioond D warew
(1) e KB oWod.

(b) DS dSdrerdo gBE)okadh (Pdusdo IT SRS éo"gi’gzﬁswé D e
(2) e thdobodk.

©) PHS Sreeido 3T o [HdSerey 1L IT o HorgHRoow 0 S
D 2.8 8 Erae durgo SEDE D waren (3) me HBoWOd.

@ PHS Shrgrdo ad)odmd PdSses I, 1T S0 Erae HogRo 58
0S8y Sgroko wEHELonE D warew (4) M HgoNod.
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If a is an integer and 100 < a < 200, what is the value of a ?
100 < a< 200 @ a ProroSdrond, a Devd Jos?

I.  When a s divided by 10, the remainder is 5.
a® 10 & rAodme, Faw 5.

II.  When a is divided by 8, the remainder is 3.
a8 & erAoSme, Bhdw 3. [_',

What is the value of 6 ?
0 Dewd o ?

I sin20-1=0
;I. 0<b<m ) 3

What is the area of an equilateral triangle ?
28 5 el (Bhad) Frogdod ?

I Each angle of the triangle is 60°.

(82208 (58 S0 60°.
II.  The height of the triangle is 12 cm. hy
L (8D A8 12 00.0d. -

If a and b are real numbers, what is the value of a3 + b3 ?
a, b & 0D Sowgoowd, a°+b> dewd Jod ?

I

In q‘+b=4 |
Isx2<y??

2 <y? edoce ?

Li ey
1L

x and y are non-negative real numbers.
x, yoo $HBd8 ardd Sopgen. 3

3 P.T.O.
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What is the rate per metre length of the fencing of the rectangular field ?
28 BY &Y s5H E12708 508 Foherds 2 s LoD v Jod ?

1.  The area of the field is 10,000 sq. metres.
3($% Fwrego 10,000 5.2

II.  The total cost for fencing the field is Rs. 1,00,000.
3708 503 Jaharn8 Bwgo w0 &, 1,00,000.

What is the value of the non-negative integer a ?

HBSS Grgro¥o a Jwd Jod ?
I: 32 divides 33886.
33886 % 3* grARI08.

II. 72 divides 2058.
2058 % 72 g2 H0d.

Is the set A contained in the set of prime numbers ?
D8 A, wyrag dogrg H8S® &oenoce ?

1. Everyelement of A is a positive real number.
A &% (38 Jreghn a8 b TN Dowg.

1
A c {x eR|x<  for all positive integers n}
: 5 i 1
A;{xe R | (®& && Prgeo8o n é?,x<n}

Is the real number a, positive ?
S0 Howg a, H S8R ?
I a2<0

IL; a®-5a+6<0 ‘
Is it a Sunday ?
o8 s G ?

I.  The same date in the previous year as a Friday.
(880 DoHSYB80S® ©T erdan DEaE0 Yood.

I.  Itis 1* January 2088.
b 2550 1, 2088.
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12.

13

14.

15:

11.

The price of which of the mobile phones A and B is reduced more ?
WBS P A 200X B 0" B b JEnd ShoBadod ?
1. The price of A is reduced by 10%.

A 96 10% $hoswdod.

II.  The price of B is reduced by 12%. L'_
B 0 12% $hosedos.

If a, b and ¢ are distinct prime numbers, is a an even number ?
a, b, ¢ &0 DDH) werag Bopgeoowd, a HO Sopg eYSoo ?
I.  The product of a, b and c is even. ‘
a,b,c © ©20 30 E()ospg.
JI.  The sum of b and c is odd.
; b, ¢ © o T Dogg. 2‘
Are a, b and c in arithmetic progression ?
a,b, ¢ & ©0¥ FIS* Yok ?
L 5a, 5b and 5c are in arithmetic progression.
5a, 5b, 5S¢ &0 ©0¥ (FAS® Hmyow.
II.  2a, 3b and 4c are in arithmetic progression. '
2a, 3b, 4c o 0¥ [FRS® Hmyow.

Is nvdivisible by 720 ?
n % 720 erasdr ?

L n is divisible by 24 and 30.
n % 24, 30 e gresten.

1L n= a(a+ 1)(a+2)(a+ 3)(a+4)(a+5) for some positive integer a. 2,
2.8 &9 Yrgrodo a B, n=a(a+ 1)(a+2)a+3)(a+4)(a+5).

Whatisa:b:c?
a:b:cood& ?
1 asb=2:3

I =556 3

5 P.T.O.
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16.

17,

18.

19.

20.

For integersaand b,isa>b ?
Jrgroste a, b 0¥, a>b eYydoo 7
) I

I |af=0

What is the value of sin 0 ?
sin 0 Qewd Does?

sin6 0 0

L The matrix( 2 O]is not invertible.
I S

sinb 0 0 :
Se@E| 2 2 0 |2%ugin s
S A |

1. 0 lies in the second quadrant.

0 Bo&® FBoS® Y.

Does the natural number n divide 15n% + 8n + 6 ?
15n% + 8n + 6 & dives Dowg n grashy ?
ik n divides 10

10 % n a8,

II.  ndivides 3!
3! % n gra¥o.

What is £ A in the triangle ABC ?
(BaHezo ABC &° LA do& ?

L ZA=24B

il 3 2B =242C

A and B are two sets. What are the elements of B ?
A, B e Bok ddéoen. B S5 drosten 99 ?
5 AnB={1.2,34 5}

. A-B={7,8,9, 10}

16AL-83
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(ii) Problem Solving (Marks : 55)
(a) Sequence and Series (Marks : 25)
Note : In each of the questions numbered 21 to 35 a sequence of numbers or letters that follow

a definite pattern is given. Each question has a blank space. This has to be filled by the

correct answer from the four given options to complete the sequence without breaking
the pattern.

S 1 21 B Hodd od 35 Hoad HBY Ho (HB (HHSEr adyd Dopgen M), e¥oren
Y 28 Léé:zxgé)cmé QO%ErY) BT ow. (D8 E’o’ﬁlésiésv, o8 O CIARS
e saD')s*o Wod V0 wond =W MED, LHIED JoHHrds Fodo
SodHoa® Yroowrd.

21. 4,7,1961, , 1027

(1) 108 (2) 148 \,(z( 259 @) 617

3 88 T s
2 3N '26 37

9 11 13 15

) 951 13 B 17
23, 2+45,9+445,. 8 161+ 7R[5

(1) 18+16\5 P 38+17\5 () 64+31[5 @) 72+645
24. ABD, EFH, , MNP, QRT

(1) GHI ) UK @ L (4) JKM
25, 9920 263

1 36 O 48 3) 50 @ 52
26. T W g J

D @ E W F @ H
27, 5,10,26,50,122, , 290, 362

(1) 140 ‘% 170 (3) 184 @ 226
28. 22%’25,28%'——40

v 2 2 4

) 33 @ 363 (3) 345 @) 353
29. (2OENIRRAD, 8N \/

(1) (13,11 @) (14,12) (3) (15,13) 4 7,15

7 P.T.O.



30.

3l

32.

33:

3s.

BAT, EDW, THA,
(1) NMG

,IHN, SRyBH
(1) YXE 2) YXD

(2) MNF

ABC ; ZYX : : EFG;

(1) ECB V) DCB
25,49, 121, 225,

1 361 @) 256
1800 : 1675 : : 3600 :

a 3275 ) 3450
g, 4qh8 (4 8

a o @ 11

3
3

3)

Vel
v

©)

Note : In questions 36 to 45, pick the odd thing out.
Bm5% 136 208 45 B8 Ko (D eS® HoFFoId HYotod.

\6) 46

V6

36 ). 135
3. 1y 28 () 65 3)
38. (1) FIHG (2) KNML \'6)
39. (1) 80 (2) 99 3)
40. (1) Bus complex\'é) Cinema hall (3)
29 s*’o‘%)gb DE® Hoew
41.M1 271 D 2Y2 3)
42. \ﬁ) Hand (2) Eye 3)
How £
43. (1) 2+1=0 )
(G) 2+2%+5=0 v
4. () K @ c (©)
45. (1) VIOLIN (2) VEENA 3)

we MG
XYD @)
DCA @)
529 @)
3350 )
15 v
72 )
126 Vﬁ)
RTUS @)

120 v

Railway station (4)
=

FEgRns

2X4 4

Ear \4)

DD

X +3x+6=0

P -x-12=0

G v

MANDOLIN %)
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YXF
FCB:
676

3375

17

91
216
VYXW

163

Aerodrome

. Qaeee(Fo¥o

2Z6

Mouth
&

FLUTE
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(b) Data Analysis (Marks : 10)
Note for questions 46 to 50 :

Study the following Pie diagram and answer the questions 46 to 50 :
46 - 50 (%) 0% JedS ¢
(808 & (Pie) Herdy HOBD0D (H)en 46 - 50 0% =aDig0d.

Author's
royaltics

30%

Advertisement
charges

If the author’s royalties amount to Rs. 30,000/~ more than the printing charges, how much
will be the amount for advertisement charges ?

Bo(er pBN© ¥oB SSondsdy 08 ugo 30,000 . A Hond, (HELSe DB
Qo ?

() Rs.60000 (2) Rs.45000 (3) Rs.75000 M) Rs. 90,000

What is the angle of the sector for miscellaneous charges ?
388 PN Vg 80 Jod ?

(1) 6736 2) 7°24 ‘/6) 7l ) 4) 6°12

If the cost of the paper and the transportation put together amounts to Rs. 70,000, then the
total expenditure incurred in bringing out the book is (in rupees)

S*NSHY, e PE© Iwdo 70,000 . wond, VY (HDSnschy Iwdo P
(Srrahes®)

(1) 6,00,000 \é) 5,00,000 (3) 5,40,000 (4) 4,50,000

9 P.T.O.
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49. The miscellaneous charges amount to Rs. 10,000 and a total of 13,000 copies of the book are

printed. What is the cost of each copy at which the book must be priced, if the publisher
desires a profit of 4% ?

388 pdpe 10,000 &r. ), 13,000 (HSHen WWBoE wEOTro. (HHHES 4%
ergfo Trared S S 0B, HYED Bo Jod ©d Igowowd ?

Vﬁ) Rs. 40 (2) Rs.36 (3) Rs.52 (4) Rs. 48

50. If the transportation charges are reduced by half, then how much is the saving if the binding
charges amount to Rs. 60,000 ?

Sarer BN DKo SN0WE 0B, Bodoh Fden 60,000 & wond, Jod Ido wae
wYod ?
(1) Rs. 15,000 (2) Rs. 30,000 (3) Rs. 25,000 Vé) Rs. 20,000

Note for questions 51 to 55 :

In the bar diagram given below, the frequency distribution of workers in a factory is given
according to the number of dependents they have. Answer questions 51 to 55 basing on the data
given in the bar diagram :

51- 55 B0l Griss

2.8 éo‘&mdoé“ S DO 0 Morew, TOP WEEDHG 0 Dopgod w8 & (8od b
HHoS® © B a VDG Jgredo adgBod. & w8 Dot adyd Kol
sar8o FEW (DHen 51-55 0 2a-dHg0d.

70

Literate Workers
SRR

Illiterate Workers

VBZo™dg BAarh
No. of
Workers
FoREvie)
Sopg
1 2 3 4 5 6
No. of Dependents es¢re8HED 00 Zﬁong —_—
51. The total number of workers in the organization is
& HoRS® HY FD 70 Iwgo dowg
@ —0
1) 180 \6) 200 (3): 5230 (4) 300
52. The ratio of literate workers to illiterate workers is
©F0edg B &, ABFodg DGO A8
()2 E 20 2) 20121 3y 2119 2(4) 1921

10
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53.

54.

The number of literate workers with atleast 3 dependents is
EIH0 Bty BEed HAD ToUN), FuigS He HAF0 dowg

(1) 50 @2) 55 3) 65 ﬁ) 45

The total number of dependents that all the workers have
Bogdn ST HoP BerdddS &0 Dopg

\/6 ) 560 (2) 650 (3) 580 : @) 540
What is the percentage of illiterate workers among the total workers ?

55.

(c)

56.

57.

58.

Awegdn HAFOS® ATFouge TS0 Jos?
(1) 48 Vé) 47.5 (3) 485 4) 525

Coding and Decoding (Marks : 10)
Note for questions 56 to 60 :

In a code, the n" letter in English alphabet is coded to K% letter, where
K = 3n + 2(mod 26), 1 < K < 26. For example, the 9" letter I is coded as C,
since 3 X 9 + 2 = 29 = 3(mod 26) and C is the third letter. The reverse of this process is

used for decoding. Based on these coding and decoding processes, answer the questions
56 to 60.

56 - 60 (S 0% JrED

K = 3n + 2(mod 26), 1 < K < 26 wowd, 00 ©¥8ires®™ n H ©o=d), K ©
wiborr §& B3, sorirdnd 9 H v¥so 1 3 H v¥¥o C o §& I .
Qo&r¥oB 3 x 9 +2 =29 =3(mod 26). &I DS [HBad & §°8 b8 rwrd.
& §°30h, & 8'G0h (H8obol ¢HErPNOD (Do 56-60 o =arddgod.

The code word for ICET is
ICET & §°& &0

(1) #"CKP¥ (2) CKQI (3) CKQK \4) CKQJ

The code word for JOLLY is
JOLLY 8 §°& %o

(1)  SHEY: (2) SORRY %) FULLY (4) PETTY
The word coded as GJEIQ is

GIEIQ r~ §°& Jadhardd do

(1) STATD : Vé) STATE (3)' “STBTE (4) STATF

11 P.T.O.
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59, The word coded as DENCU is
DENCU r §°6 So%add Hio

%l) RADIO (2) DANCE (3) RADIC (4) DELHI

60. The word coded as KUOXMIQD is
KUOXMIQD r §°& Dohadd H0

(1) COMPLEXS \6 COMPUTER (3) COMMENCE (4) COMPLETE

Note for questions 61 to 65 :

The vowels of the English alphabet are arranged alphabetically and among these vowels, the 1

vowel is coded as (r + 1) vowel and the last as the first. The consonants of the English alphabet
are arranged alphabetically and among these consonants, the ™ consonant is coded as (r — 1)®
consonant and the first as the last. For decoding, the inverse process is followed. Basing on these
coding and decoding processes, answer questions 61 to 65.

61 - 65 Byt 758
20f% VEEEreS™) eunod eFE HED (E908° wid) & wINOS 1 odiyd
@+ 1) $ oS, D0 6D I ol 86 Baod. Bohidd ©E8 Lred™d
Sreved vid BB E0S°® wdod)y, S Lot 1d e (r - 1) & Sormd, ands
e D40 drepmds €6 Jood. & SA0RE, BD DS [BSoS oo & WIS
a0h ook & S'&oh [HBoded sgrdomr FTLED, 61 oD 65 VK Ko (HHoB
JSdrgroro (@rodod.

61. The code word for CRICKET is
CRICKET & §°& %o
(1)) BQOBJAS (2) BQOBJAU \‘6 BQOBIJIS (4) BQOBJAV

62. Which word is coded as CORBUTIQ ?
9 $%0 CORBUTIQ r §°& Jadhardod ?
(1) DISCLOSE (2) DISPLACE (3) DISPLAYS ‘6 DISCOVER

63. The code word for EVEREST is
EVEREST % &'& %&o
\A) ITIQIRS (2) ITIQIRV (3) ITIQERS (4) ITIQITS
64. The code word for ENERGY is

ENERGY & §°6 b0
(1) IMIQHZ (2) IMIQHX (3) IMISEX \6 IMIQFEX
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65.

(d)
66.

67.

68.

69.

70.

Which word is coded as QEMFIQ ?
2 HS50 QEMFIQ > &5 Soverdosd ?
(I) RANGES Vé) RANGER (3) PILGOP (4) SANGES
Date, Time & Arrangement Problems (Marks : 10)
If the first day of a month is a Sunday, then the date of the Monday that comes after the
second Saturday of that month, is
o o’ WSS S wdardo wand, ¥ IoS® Bodd 30 S 5%
Jpardo g 86
(hFeg @ 9 G) 15 vﬁ) 16
In aleap year, if January first is a Tuesday, then March second of that year falls on
a8 O VodSYEoSt wbdd Fnse B8 woXgEso vowd, ¢ Joddysos &r0)
Gods 86 wdly &%

\/6 ) Sunday (2) Monday (3) Tuesday (4) Saturday

Elatvdefo] 8o ol &80 380

Fifteen years ago the ages of a mother and her daughter were in the ratio 6 : 1. If the
present age of the daughter is 20 years, then the mother’s age, in years, after 5 years from
now, is
15 D0%&Yore (80856 28 $O b Erdde SoLyen 6 1 1 AR8S® I o0.
Erdd) (B8 Hatny 20 Soddyoren wond, adBod 5 DodEYore SHard e
39 Ho¥dny, DodEShweost
(1) 4o 2) 45 \/6) 50 (4) S5
The number of ways of arranging 4 men and 5 women alternately in a row so that the row
begins and ends with a woman, is
28 HEHIS* e Hdokn DS ggg &0od Somd, 8 ags g:njO éxﬁg 28 HBRE
&odé.)ggo T Seuthth HKen DBk oo _?\370:6: oDEHONS Jrare éoapg
(1) 280 @)} 720 \6) 2880 (4) 3600
Five persons A, B, C, D, E are sitting around a table such that D is in-between A and B.C

is in-between A and B. Then the person sitting between B and D, is

ASE8DdgD, A 8B 80 C ol ot #%es A, B, C, D, E 8 e
ii:%w 80 Gy . @é;pcﬁo B&DS§ X:oc,Sg §:°5°Q:61 ég_ﬁ;

(1) A Zre 3 D 4) E

13 P.T.O.
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The number of times that the hours hand and minutes hand of a clock coincide in a day, is
0¥ Berd® ¥ KBOEOSTD Hobe Hwey OOH JdwEwe Dwe I8PDT
Do SR Dowg

Vﬁ) 22 (2).,.23 3) 24 “4) 26

A person M starts walking from a point P straight towards East. After walking 100 feet he
turns to left and walks 45 feet straight. He again turns left and walks a distance of 60 feet
straight. Then he turns to the left and walks a distance of 45 feet. The distance between M
and P in feet, is

M o3 %58 o8 Dok P od Erdy) IS S duddo Iwden Degecky. 100
wdihen SES SHhard wdh i JPHH 80N BH T 45 wdirbey HEVT .
wddH Do AEWIYH 8dA 8{H ™ 60 when HADTE. wHPE wdd A
(DS 80n 45 wdbe &rdo HEDTd. M oo P o g o drdo,
wdhod

(1) 60 (2 50 3) 45 Vt{) 40

Pointing to a2 woman, a man said “The son of her only brother is the brother of my wife”.
How is the woman related to the man ?

28 &9 IO SrYHdr ol Hhdd aor vaydi “ud IBE BB § ek, @ 28y
DB @ HEWRIS © by & Ko wrofdgin JV?

(1) Grand mother (2) Sister
@B’m&&o&/ a"oiazséna hoplats)

(3) Mother-in-law %) Sister of father-in-law
wémd S0 IS

The operator * is defined by the equation x * y = 2x +y for all real xand y. If 2 * a = a * 35
then the value of a =

o) THH Dopgen x, y o HOEY * D xxy=2+y HWEER0E" ASIDOBERD0B.
2%a=a%*3 eond, a Gn¥) Jend

(1) 1k @ 0 3 1 @) 4

The number of 3 digit positive integers that leave the remainder 5 when divided by 7, is
7 3 erAoddypd 5 & Forr 3T e Fridiwen EORS SordE rorosto
foospg g '
a 142 @ 141 \(/3) 129 @) 128
14
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SECTION - B
Mathematical Ability
He38 F5o8e8
Questions : 75 Marks : 75
($%yo0: 75 Srdn 0175
(i)  Arithmetical Ability (Marks : 35)
e ¢
76. 16'-8’+49 = &
W 17 Vo) 13 @) 3 @ -1
Ay MR
356 63
~a°b
o LN
2ol
' lrod ‘/ il
M Va+b @ @+ 3) fab 4) (aby’
1
78. If(81)"=m,then4x+5y=

1
(81 = Q) ®ond, 4x+5y=

5 2 3 3 2 V() 0

79. 041 Xl:_%' thenp:q=

5p
3q 7
5—3=—16’@°»3’ Pigs
vy 6:7 @ 17:6 @) 5.9 - @ 9:5
b [3{7+3[ 7o ]3
2 \7+45
\/(1) o RO T 3) (\/'17,+\/F))3> @) (12+24/35)°

15 P.T.O.
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The details of investment of three persons X, Y, Z in a common business are given below.
Out of a profit of Rs. 900, the share of X in rupees is
X, Y, Z dgen o8 GG vsi@doé‘&) goate dboren (8o& mdgegran. 900 &,
erefoS® X arer Sraroved’.
X Y Z

amount in Rs.

o Er .o 6,000 | 7,000 | 6,400

time in months

s*e0 Jvod® 2 4 5
1) 110 v 150 3) 350 w400
A train running at a speed of 90 kmph takes 20 seconds to cross a bridge of length 150 m.
The length of the train in metres is
Kot 90 8., IKo& DS 2§ Sen 150 . PEH Ko HoBED 8BS
20 DEo HA8 © Bew PEY WIS

ﬁ) 350 2) 100 (3)11850 “4) 45
The least positive integer that leaves remainders 25, 37 and 53 respectively when divided |
by 36, 48 and 64 is
36, 48, 64 ©F g ROBIT BEH 25, 37, 53 L Fareor BAT) IR Hrgroso
(1)< 976 2) 574 (3) 567 4) 565
% 34 . i ;

The least integer value of n such that 3 isan even integer is

54 VA YA v

3 00 Dowg S0 n GnE), $0Q Yrgro Devd
(M @ -1 Vi -3 @ 3
A and B can do a work in 12 days; B and C in 15 days; C and A in 20 days. The number of
days required for all the three together to complete the work is
2& 530 A, B o 12 Seroster, B, C o 15 Seos®ér, C, A @ 20 Farod’
FabKed. A, B, C e dwidr Sod B D rY PBohte Saren
(1) 30 (2 20 3) 16 4 10
An article is sold at a profit of 20%. Had it been sold at a profit of 25%, it would have

86.

fetched Rs. 35 more. The cost price of the article (in rupees) is

28 SN 20% orerdd wErh. o8 YL 25% orerad oy &0 35 &,
b orgfo HTYB. © HHY §'¥) S0 (Srarones®)

(1) 650 2 700 3) 750 (4) 800

16




